IELTS Writing Task 1 - Line Graph Sample with
Model Answer

The line graph below shows the percentage of people using public transport in three cities (London,
New York, and Tokyo) between 1990 and 2020. Summarise the information by selecting and
reporting the main features, and make comparisons where relevant.

Model Answer (Band 9):

The line graph compares the proportion of people who used public transportation in three major
cities — London, New York, and Tokyo — from 1990 to 2020. Overall, the percentage of people
using public transport increased in all three cities over the period, with Tokyo showing the highest
figures throughout. While London and New York experienced steady growth, Tokyo maintained
consistently higher usage rates. In 1990, around 55% of Tokyo’s population used public transport,
compared to roughly 40% in London and 35% in New York. Over the next three decades, these
figures rose steadily. By 2020, Tokyo reached nearly 70%, London climbed to about 55%, and New
York to 50%. Despite minor fluctuations, especially in the early 2000s, the overall trend in all cities
was upward. In conclusion, public transport usage saw a general increase in all three cities
between 1990 and 2020, with Tokyo remaining the leader throughout the period.



